EARAROBREBRT —5 XN—ZXBISH—F

2023598218 (R 13EREE2H

12R B R L [ E | memm - | v oo s
[x&%] 17&:580,000 @  23#&:203,000 W  33#&:116,000H  437%&:87,000 . 5 3&:58,000
B % B FrE R/ I HE %F (T8 4L (B | BEIR | E3F |SIEH | AK | #E | BEE FR) / BE / £ERS
<)~y DR — :52. 5 - ST (BHE
1172110l vyoAt7vT47 5 gfgﬁ 1(5_2)8 2-1-1-1 | 38.5 1 (ﬁg) E@?}_( )
RiFRF BERYANUF T BiE
o S RERFAER 2 -9-8- - FHRE (BEE)
5 | Earyyoz * 6 | BR 1.(5643.1 9-9-8-7 | 38.9 11 (4:;; e
RiTYAFETY B:RU—LFaxRy b THTERBUS
s o— KRBT : -2-2- - BEPOE (BEE
35| 6| XM¥aDRIRZ LR A i} 1(95?:)2 I ’ f]z) /J\%%jc ( )
Riko¥IO—U— B:XAY3VFUET PN
s 4 | BIREE 1:54.4 7-7-5-4 | 39.5| — 6 | 425 |fERAIE (BLE)
4l 9| ALA—L>F L a8 G | I Revay
R:FIWTT—DI B:T—TIVIIF— RS
B4 | BEHEA 1:54.6 4666 [39.6| — | 3 | 462 |EHF (BEHE)
5 3 J3JeX 54.0 (1 1/2) 1) (B #&x
R:7ROVIvI B:YRR RE 2
NS BAES 2 -8-9- - BHBEE (BEE)
el x5/ 754 6 g Gy | B2 L E e
R:IRTVFLY B:N\O—F5AY e
s M ) TEEFIER :54. -12-11- . - SEl (BER)
155 | wnoruu—oz w4 | Am A il L I I e 2 X
R:5Z #B:e—UVT BARIS
8 NEESZIZE o4 3%857& 1:?25).1 6-4-7-3 | 40.1| - | 2 (4714) Egg (BERE)
RNMVFSY B:FLRSTIUF W 37y rhy=—
7~y # 5 | ETE 1:55.7 3335 (413 - | 5 | 47 |)lEEE (BEHE)
91812/ AR~ {£52.0 B (+12) | FR=EB
RIROSAYT B:FAPIARTVY F4TFURANIST
= AR 2 -5-4- - BHSEHT (REE)
whls|vzor502 (i [ R R T8 | mme
RiALY3UR—5— B:E27TVISVUR BRI
S g # o6 | ALUE— 1:56.5  [10-11-10-11| 40.9 | — 9 | 473 |fEHAIE (BEHE)
111811/ O—FI7U—H— 56.0 (3/4) (-g) | PHEHER
Ri—3—vvF BRUVER EUFHIT7—L
. 5 | RESE 1:59.4  |12-10-12-12| 43.4 | — | 12 | 463 |HLEE (HBEE)
120111 | TILERX " Csa:0 (94 1) 1 |# NST
R:UAVF 14— B:E2TIYR J—YUTr—Ih
@ 1—F—@BIEfL
13—7F— |6,10,12,3,8,4,9,2,7,11,5,1
23—73— [10,6,12,4,8,3,9,2,7,1,11,5
3J0—7— |10,6,12,8,9,3,4,7,2,11,5,1
4J—7F— |[10,6,4,9,12,3,7,8,2,5,11,1
@ Ih\R=E
B B 10 130 | | 94 K& 7-10 1,490 | | # &= 6-7 790M | | 3i=|E 6-7-10 14,130
B B 10 100F4 6-10 890F | | R = 7-10 3,410/ | | &= 10-7-6 37,960
7 4204 6-7 6,460 | | F5 & 10-7 5,070M
6 530M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




